	RFB SUPPRESSION EQUIPM			AL CONTRA N, MAINTEI			PURCHAS	SE
	Primary = Safety Control, LLC Secondary = APS FireCo Tulsa, LLC Alternate = Impact Fire Services		Mount Ple HUE	Safety Control, LLC Mount Pleasant, TX HUB: No CO-OP: Yes		APS FireCo Tulsa, LLC Farmer's Branch, TX HUB: No CO-OP: Yes		re Services ton, TX 3: No P: Yes
ITEM	DESCRIPTION	EST. QTY	UNIT PRICE	EST. PRICE	UNIT PRICE	EST. PRICE	UNIT PRICE	EST. PRICE
	ION 1: Portable Fire Extinguisher Spece Extinguisher Annual Inspection	cific Serv	ices					-
1	Fire Extinguisher (All Buildings)	1747	\$5.50	\$9,608.50	\$6.00	\$10,482.00	\$6.50	\$11,355.50
Six Ye	ar, Stored Pressue Extinguisher Intern	al Mainte	enance Test					
2	Extinguisher with ABC Extinguishing Agent	150	\$28.00	\$4,200.00	\$19.00	\$2,850.00	\$8.50	\$1,275.00
3	Extinguisher with BC Extinguishing Agent	100	\$20.00	\$2,000.00	\$19.00	\$1,900.00	\$8.50	\$850.00
4	Extinguisher with Halotron Extinguishing Agent	50	\$45.00	\$2,250.00	\$10.00	\$500.00	\$45.00	\$2,250.00
Five \	ear, Water, CO2, and Wet Chemical E	Extinguis	ner Hydrostati	c Test				
5	Extinguisher with CO2 Extinguishing Agent	150	\$24.00	\$3,600.00	\$35.00	\$5,250.00	\$24.00	\$3,600.00
6	Extinguisher with Class-K Extinguishing Agent	100	\$80.00	\$8,000.00	\$25.00	\$2,500.00	\$24.00	\$2,400.00

	RFB SUPPRESSION EQUIPM			AL CONTRA N, MAINTEI			PURCHAS	iΕ
	Primary = Safety Control, LLC Secondary = APS FireCo Tulsa, LLC Alternate = Impact Fire Services			Safety Control, LLC Mount Pleasant, TX HUB: No CO-OP: Yes		APS FireCo Tulsa, LLC Farmer's Branch, TX HUB: No CO-OP: Yes		e Services con, TX 3: No P: Yes
ITEM	DESCRIPTION	EST. QTY	UNIT PRICE	EST. PRICE	UNIT PRICE	EST. PRICE	UNIT PRICE	EST. PRICE
	TION 1: Portable Fire Extinguisher Spec							
Twelv	ve-Year Dry, Chemical Extinguisher Hyd	drostatic	Test	1		1		
7	Extinguisher with ABC Extinguishing Agent	250	\$32.00	\$8,000.00	\$29.00	\$7,250.00	\$14.50	\$3,625.00
8	Extinguisher with BC Extinguishing Agent	250	\$20.00	\$5,000.00	\$1.00	\$250.00	\$14.50	\$3,625.00
9	Extinguisher with Halotron Extinguishing Agent	200	\$45.00	\$9,000.00	\$10.00	\$2,000.00	\$45.00	\$9,000.00
10	Labor Fee to Recharge Any Single Extinguisher	1,747	\$12.00	\$20,964.00	\$19.00	\$33, 193.00	\$24.00	\$41,928.00
Exting	uisher Agent Recharge							
11	Pound of ABC Extinguisher Agent	17,850	N/C	N/C	N/C	N/C	N/C	N/C
12	Pound of BC Extinguisher Agent	4,037	N/C	N/C	N/C	N/C	N/C	N/C
13	Gallon of Class-K Extinguisher Agent	40	N/C	N/C	N/C	N/C	\$67.00	\$2,680.00

	RFB SUPPRESSION EQUIPM			AL CONTRA N, MAINTE			PURCHAS	ε				
	Primary = Safety Control, LLC Secondary = APS FireCo Tulsa, LLC Alternate = Impact Fire Services			Safety Control, LLC Mount Pleasant, TX HUB: No CO-OP: Yes		APS FireCo Tulsa, LLC Farmer's Branch, TX HUB: No CO-OP: Yes		re Services ton, TX 3: No P: Yes				
ITEM	DESCRIPTION	EST. QTY	UNIT PRICE	EST. PRICE	UNIT PRICE	EST. PRICE	UNIT PRICE	EST. PRICE				
SEC7	SECTION 1: Portable Fire Extinguisher Specific Services cont'd											
14	Liter of Class-K Extinguisher Agent	100	N/C	N/C	N/C	NC	\$18.00	\$1,800.00				
15	Pound of CO2 Extinguisher Agent	1,740	N/C	N/A	N/C	N/C	N/C	N/C				
16	Pound of Halotron Extinguisher Agent	40	\$20.00	\$800.00	\$35.00	\$1,400.00	\$43.87	\$1,754.80				
	Sub-Total Section 1:		\$73,422.50		\$67,575.00		\$86,143.30					
SECT	ION 2: Fire Safety Curtain System Spe	cific Ser	vices									
17	Fire Curtain Annual Inspection	27	\$150.00	\$4,050.00	\$150.00	\$4,050.00	\$150.00	\$4,050.00				
	Sub-Total Section 2:			\$4,050.00		50.00	\$4,050.00					
SECT	ION 3: Fire Hose System Specific Server	/ices										
18	Fire Hose System Annual Inspection	194	\$25.00	\$4,850.00	\$35.00	\$6,790.00	\$10.00	\$1,940.00				

	RFB SUPPRESSION EQUIPM			AL CONTRA N, MAINTEI			PURCHAS	SE
	Primary = Safety Control, LLC Secondary = APS FireCo Tulsa, LLC Alternate = Impact Fire Services		Safety Control, LLC Mount Pleasant, TX HUB: No CO-OP: Yes		APS FireCo Tulsa, LLC Farmer's Branch, TX HUB: No CO-OP: Yes		Impact Fire Services Arlington, TX HUB: No CO-OP: Yes	
ITEM	DESCRIPTION	EST. QTY	UNIT PRICE	EST. PRICE	UNIT PRICE	EST. PRICE	UNIT PRICE	EST. PRICE
SEC7	TON 3: Fire Hose System Specific Serv	vices cor	nťd					
19	Three-Year, Fire Hose System Hydrostatic Testing	75	\$75.00	\$5,625.00	\$75.00	\$5,625.00	\$98.00	\$7,350.00
	Sub-Total Section 3:			\$10,475.00		\$12,415.00		90.00
SECT	ION 4: Hood Fire Suppression Equipm	ent (Kito	hen Hood & Pa	aint Booth)				
20	Biannual, Hood Fire and Paint Booth Suppression System Inspection	30	\$200.00	\$6,000.00	\$200.00	\$6,000.00	\$275.00	\$8,250.00
21	Twelve Year Hydrostatic Hood Fire Suppression System Test	2	\$1,250.00	\$2,500.00	\$600.00	\$1,200.00	\$625.00	\$1,250.00
	Sub-Total Section 4:		\$8,5	00.00	\$7,2	00.00	\$9,500.00	
SECT	ION 5: Fire Suppression Equipment Pu	urchases	6					
22	ABC Dry Chemical Extinguisher, 2.5 lbs	200	\$29.00	\$5,800.00	\$25.00	\$5,000.00	\$39.00	\$7,800.00
23	ABC Dry Chemical Extinguisher, 5 lbs	150	\$35.00	\$5,250.00	\$40.00	\$6,000.00	\$49.00	\$7,350.00

Cintas Corporation was deemed non-responsive for not completing all line items and adding exceptions to the tems. N/C = no charge; pricing included in annual inspection.

N/A = not available; lines 34, 36, 39 are not available in sizes listed.

	RFB SUPPRESSION EQUIPM			AL CONTRA N, MAINTE			PURCHAS	E
	Primary = Safety Control, LLC Secondary = APS FireCo Tulsa, LLC Alternate = Impact Fire Services			Safety Control, LLC Mount Pleasant, TX HUB: No CO-OP: Yes		APS FireCo Tulsa, LLC Farmer's Branch, TX HUB: No CO-OP: Yes		e Services con, TX 3: No P: Yes
ITEM	DESCRIPTION	EST. QTY	UNIT PRICE	EST. PRICE	UNIT PRICE	EST. PRICE	UNIT PRICE	EST. PRICE
SEC1	TION 5: Fire Suppression Equipment Po	urchases	s cont'd					
24	ABC Dry Chemical Extinguisher, 6 lbs	75	\$39.00	\$2,925.00	\$50.00	\$3,750.00	\$49.00	\$3,675.00
25	ABC Dry Chemical Extinguisher, 10 lbs	50	\$54.00	\$2,700.00	\$75.00	\$3,750.00	\$70.00	\$3,500.00
26	ABC Dry Chemical Extinguisher, 20 lbs	50	\$96.00	\$4,800.00	\$125.00	\$6,250.00	\$125.00	\$6,250.00
27	BC Dry Chemical Extinguisher, 2.5 lbs	50	\$27.60	\$1,380.00	\$25.00	\$1,250.00	\$39.00	\$1,950.00
28	BC Dry Chemical Extinguisher, 5 lbs	75	\$37.80	\$2,835.00	\$40.00	\$3,000.00	\$49.00	\$3,675.00
29	BC Dry Chemical Extinguisher, 6 lbs	50	\$37.80	\$1,890.00	\$42.00	\$2,100.00	\$49.00	\$2,450.00
30	BC Dry Chemical Extinguisher, 10 lbs	50	\$63.00	\$3,150.00	\$57.00	\$2,850.00	\$70.00	\$3,500.00
31	BC Dry Chemical Extinguisher, 20 lbs	10	\$101.40	\$1,014.00	\$95.00	\$950.00	\$125.00	\$1,250.00

Cintas Corporation was deemed non-responsive for not completing all line items and adding exceptions to the tems. N/C = no charge; pricing included in annual inspection.

N/A = not available; lines 34, 36, 39 are not available in sizes listed.

	RFB 2020-128 ANNUAL CONTRACT FOR FIRE SUPPRESSION EQUIPMENT INSPECTION, MAINTENANCE, REPAIR AND PURCHASE											
Primary = Safety Control, LLC Secondary = APS FireCo Tulsa, LLC Alternate = Impact Fire Services			Safety Control, LLC Mount Pleasant, TX HUB: No CO-OP: Yes		APS FireCo Tulsa, LLC Farmer's Branch, TX HUB: No CO-OP: Yes		Impact Fire Services Arlington, TX HUB: No CO-OP: Yes					
ITEM	DESCRIPTION	EST. QTY	UNIT PRICE	EST. PRICE	UNIT PRICE	EST. PRICE	UNIT PRICE	EST. PRICE				
SEC7	SECTION 5: Fire Suppression Equipment Purchases cont'd											
32	Halotron Extinguisher, 2.5 lbs	10	\$77.40	\$774.00	\$100.00	\$1,000.00	\$133.68	\$1,336.80				
33	Halotron Extinguisher, 5 lbs	200	\$136.20	\$27,240.00	\$138.00	\$27,600.00	\$243.35	\$48,670.00				
34	Halotron Extinguisher, 10 lbs (only offered in 2.5, 5, 11 & 15 LB)	150	N/A	N/A	N/A	N/A	N/A	N/A				
35	Halotron Extinguisher, 11 lbs	75	\$282.60	\$21,195.00	\$300.00	\$22,500.00	\$506.57	\$37,992.75				
36	Halotron Extinguisher, 20 lbs (only offered in 2.5, 5, 11 & 15 LB)	50	N/A	N/A	N/A	N/A	N/A	N/A				
37	CO2 Extinguisher, 5 lbs	50	\$120.90	\$6,045.00	\$150.00	\$7,500.00	\$140.00	\$7,000.00				
38	CO2 Extinguisher, 10 lbs	75	\$174.20	\$13,065.00	\$225.00	\$16,875.00	\$195.00	\$14,625.00				

	RFB SUPPRESSION EQUIPM			AL CONTRA N, MAINTEI			PURCHAS	SE				
	Primary = Safety Control, LLC Secondary = APS FireCo Tulsa, LLC Alternate = Impact Fire Services			Safety Control, LLC Mount Pleasant, TX HUB: No CO-OP: Yes		APS FireCo Tulsa, LLC Farmer's Branch, TX HUB: No CO-OP: Yes		re Services ton, TX 3: No P: Yes				
ITEM	DESCRIPTION	EST. QTY	UNIT PRICE	EST. PRICE	UNIT PRICE	EST. PRICE	UNIT PRICE	EST. PRICE				
SEC1	SECTION 5: Fire Suppression Equipment Purchases cont'd											
39	CO2 Extinguisher, 11 lbs (only comes in 5,10, 15 & 20 lbs)	50	N/A	N/A	N/A	N/A	N/A	N/A				
40	CO2 Extinguisher, 20 lbs	50	\$271.70	\$13,585.00	\$300.00	\$15,000.00	\$275.00	\$13,750.00				
41	K-Class Extinguisher, 2.5 gallon	5	\$201.00	\$1,005.00	\$200.00	\$1,000.00	\$260.00	\$1,300.00				
42	K-Class Extinguisher, 6 liter	5	\$165.00	\$825.00	\$200.00	\$1,000.00	\$175.00	\$875.00				
43	Fire Hose - PSI Test to 250, Burst Rating 750, 1.5 inch, Double Jacket Polyester with Brass Couplings, 50 Feet	20	\$145.00	\$2,900.00	\$150.00	\$3,000.00	\$249.00	\$4,980.00				
44	Fire Hose - PSI Test to 250, Burst Rating 750, 1.5 inch, Double Jacket Polyester with Brass Couplings, 75 Feet	20	\$200.50	\$4,010.00	\$200.00	\$4,000.00	\$340.17	\$6,803.40				
45	Fire Hose - PSI Test to 250, Burst Rating 750, 1.5 inch, Double Jacket Polyester with Brass Couplings, 100 Feet	10	\$256.00	\$2,560.00	\$250.00	\$2,500.00	\$430.77	\$4,307.70				

	RFB 2020-128 ANNUAL CONTRACT FOR FIRE SUPPRESSION EQUIPMENT INSPECTION, MAINTENANCE, REPAIR AND PURCHASE										
Primary = Safety Control, LLC Secondary = APS FireCo Tulsa, LLC Alternate = Impact Fire Services			Safety Control, LLC Mount Pleasant, TX HUB: No CO-OP: Yes		APS FireCo Tulsa, LLC Farmer's Branch, TX HUB: No CO-OP: Yes		Arling HUE	re Services ton, TX 3: No P: Yes			
ITEM	DESCRIPTION	EST. QTY	UNIT PRICE	EST. PRICE	UNIT PRICE	EST. PRICE	UNIT PRICE	EST. PRICE			
SEC1	SECTION 5: Fire Suppression Equipment Purchases cont'd										
46	Fire Hose - PSI Test to 250, Burst Rating 750, 1.5 inch, Double Jacket Polyester with Brass Couplings, 50 Feet	10	\$145.00	\$1,450.00	\$150.00	\$1,500.00	\$249.00	\$2,490.00			
47	Fire Hose - PSI Test to 250, Burst Rating 750, 1.5 inch, Double Jacket Polyester with Brass Couplings, 75 Feet	5	\$200.50	\$1,002.50	\$200.00	\$1,000.00	\$340.17	\$1,700.85			
48	Fire Hose - PSI Test to 250, Burst Rating 750, 1.5 inch, Double Jacket Polyester with Brass Couplings, 100 Feet	5	\$256.00	\$1,280.00	\$250.00	\$1,250.00	\$430.77	\$2,153.85			
49	Fire Hose - PSI Test to 250, Burst Rating 750, 1.75 inch, Double Jacket Polyester with Brass Couplings, 50 Feet	5	\$178.00	\$890.00	\$200.00	\$1,000.00	\$380.20	\$1,901.00			
50	Fire Hose - PSI Test to 250, Burst Rating 750, 1.75 inch, Double Jacket Polyester with Brass Couplings, 75 Feet	5	\$246.00	\$1,230.00	\$250.00	\$1,250.00	\$490.46	\$2,452.30			
51	Fire Hose - PSI Test to 250, Burst Rating 750, 1.75 inch, Double Jacket Polyester with Brass Couplings, 100 Feet	5	\$314.00	\$1,570.00	\$300.00	\$1,500.00	\$600.72	\$3,003.60			

	RFB SUPPRESSION EQUIPM			AL CONTRA N, MAINTEI			PURCHAS	SE
	Primary = Safety Control, LLC Secondary = APS FireCo Tulsa, LLC Alternate = Impact Fire Services		Safety Control, LLC Mount Pleasant, TX HUB: No CO-OP: Yes		APS FireCo Tulsa, LLC Farmer's Branch, TX HUB: No CO-OP: Yes		Arling HUE	re Services ton, TX 3: No P: Yes
ITEM	DESCRIPTION	EST. QTY	UNIT PRICE	EST. PRICE	UNIT PRICE	EST. PRICE	UNIT PRICE	EST. PRICE
SECT	TION 5: Fire Suppression Equipment P	urchases	cont'd	· · · · · · · · · · · · · · · · · · ·				-
52	Fire Hose - PSI Test to 250, Burst Rating 600, 1.5 inch, Double Jacket Polyester with Brass Couplings, 50 Feet	5	\$145.00	\$725.00	\$150.00	\$750.00	\$326.72	\$1,633.60
53	Fire Hose - PSI Test to 250, Burst Rating 600, 1.5 inch, Double Jacket Polyester with Brass Couplings, 75 Feet	5	\$200.50	\$1,002.50	\$200.00	\$1,000.00	\$464.54	\$2,322.70
54	Fire Hose - PSI Test to 250, Burst Rating 600, 1.5 inch, Double Jacket Polyester with Brass Couplings, 100 Feet	5	\$256.00	\$1,280.00	\$250.00	\$1,250.00	\$602.35	\$3,011.75
55	Fire Hose - PSI Test to 250, Burst Rating 600, 1.75 Inch, Double Jacket Polyester with Brass Couplings, 50 Feet	5	\$178.00	\$890.00	\$200.00	\$1,000.00	\$408.66	\$2,043.30
56	Fire Hose - PSI Test to 250, Burst Rating 600, 1.75 Inch, Double Jacket Polyester with Brass Couplings, 75 Feet	5	\$246.00	\$1,230.00	\$250.00	\$1,250.00	\$552.26	\$2,761.30
57	Fire Hose - PSI Test to 250, Burst Rating 600, 1.75 Inch, Double Jacket Polyester with Brass Couplings, 100 Feet	5	\$314.00	\$1,570.00	\$300.00	\$1,500.00	\$695.84	\$3,479.20
Perce	ent Discount off Catalog for Items Not Listed:		25%		25%		0%	
Cinter	Sub-Total Section 5: Corporation was deemed non-respons			068.00	\$151,125.00		\$211,994.10	

Cintas Corporation was deemed non-responsive for not completing all line items and adding exceptions to the tems.

N/C = no charge; pricing included in annual inspection.

N/A = not available; lines 34, 36, 39 are not available in sizes listed.

	RFB SUPPRESSION EQUIPM			AL CONTRA N, MAINTE			PURCHAS	SE
	Primary = Safety Control, LLC Secondary = APS FireCo Tulsa, LLC Alternate = Impact Fire Services			Safety Control, LLC Mount Pleasant, TX HUB: No CO-OP: Yes		APS FireCo Tulsa, LLC Farmer's Branch, TX HUB: No CO-OP: Yes		re Services ton, TX 3: No P: Yes
ITEM	DESCRIPTION	EST. QTY	UNIT PRICE	EST. PRICE	UNIT PRICE	EST. PRICE	UNIT PRICE	EST. PRICE
SECT	ON 6: Fire Suppression Equipment Re	pair Serv	vices (Kitchen	Hood, Paint Bo	oth, & Fire Cu	urtain)		
58	Trained Repair Technician, Hourly Rate, Monday – Friday 8:00 a.m. to 5:00 p.m.	40	\$85.00	\$3,400.00	\$75.00	\$3,000.00	\$68.00	\$2,720.00
59	Trained Repair Technician, Hourly Rate, Monday – Friday 5:01 p.m. to 7:59 p.m	20	\$105.00	\$2,100.00	\$100.00	\$2,000.00	\$102.00	\$2,040.00
60	Trained Repair Technician, Hourly Rate, Weekends and Contractor Recognized Holidays	10	\$105.00	\$1,050.00	\$130.00	\$1,300.00	\$102.00	\$1,020.00
61	Helper, Hourly Rate, Monday – Friday 8:00 a.m. to 5:00 p.m	40	\$35.00	\$1,400.00	\$65.00	\$2,600.00	\$42.00	\$1,680.00
62	Helper, Hourly Rate, Monday – Friday 5:01 p.m. to 7:59 p.m	20	\$45.00	\$900.00	\$85.00	\$1,700.00	\$63.00	\$1,260.00
63	Helper, Hourly Rate, Weekends and Contractor Recognized Holidays:	10	\$45.00	\$450.00	\$100.00	\$1,000.00	\$63.00	\$630.00
	Parts Mark-Up		2	5%	2	5%	2	5%
	Sub-Total Section 6:		\$9,3	00.00	\$11,600.00		\$9,350.00	
	BID TOTAL (ALL SECTIONS)		\$244,	815.50	\$253,	965.00	\$330,	327.40